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1 Supremum und Infimum

A =
{

n

n − 1
: n ∈ N \ {0, 1}

}
y ∀a ∈ A : a ∈ (1, 2]

sup
R

A = 2

inf
R

A = 1

2 Matrizen

2.1

1 2
0 6
1 2

1 1 2 3 12
2 −3 0 2 −14

A · C =
(

3 12
2 −14

)

2 −1
−1 3

2 −1 5 −5
−1 3 −5 10

B · B =
(

5 −5
−5 10

)
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1 1 2
2 −3 0

2 −1 0 5 4
−1 3 5 −10 −2

B · A =
(

0 5 4
5 −10 −2

)

1 1 2
2 −3 0

1 2 5 −5 2
0 6 12 −18 0
1 2 5 −5 2

C · A =

 5 −5 2
12 −18 0
5 −5 2



2 −1
−1 3

1 2 0 5
0 6 −6 18
1 2 0 5

C · B =

 0 5
−6 18

0 5



2.2

1 2
0 6
1 2

1 1 2 3 12
2 −3 0 2 −14

A · C =
(

3 12
2 −14

)

BT =
(

2 −1
−1 3

)

A · C + 2BT =
(

3 12
2 −14

)
+

(
4 −2

−2 6

)
=

(
7 10
0 −8

)
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3 LGS

A =

 1 2 3
2 3 5

−3 −4 −8

 , B =

 b11 b12 b13

b21 b22 b23

b31 b32 b33

 , A·B =

 1 0 0
0 1 0
0 0 1


b1n + 2b2n + 3b3n = 1 0 0

2b1n + 3b2n + 5b3n = 0 1 0
−3b1n − 4b2n − 8b3n = 0 0 1

1 2 3 1 0 0
2 3 5 0 1 0

−3 −4 −8 0 0 1
0 −1 −1 −2 1 0
0 2 1 3 0 1
0 1 1 2 −1 0
0 2 1 3 0 1
0 0 −1 −1 2 1

−b31 = −1
b31 = 1

−b32 = 2
b32 = −2

−b33 = 1
b33 = −1

b21 + b31 = 2
b21 + 1 = 2

b21 = 1

b22 + b32 = −1
b22 − 2 = −1

b22 = 1

b23 + b33 = 0
b23 − 1 = 0

b23 = 1

b11 + 2b21 + 3b31 = 1
b11 + 2 · 1 + 3 · 1 = 1

b11 + 5 = 1
b11 = −4

b12 + 2b22 + 3b32 = 0
b12 + 2 · 1 − 3 · 2 = 0

b12 − 4 = 0
b12 = 4

b13 + 2b23 + 3b33 = 0
b13 + 2 · 1 − 3 · 1 = 0

b13 − 1 = 0
b13 = 1

B =

 −4 4 1
1 1 1
1 −2 −1


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